BINGO: Identidades notables

BOLAS SOLUCIONES
x%+ 10+ 25 (x + 5)2
x?2—4x+4 (x — 2)?
x%—4 x-2)-(x+2)
x%+4x+4 (x + 2)?
x?—6x+9 (x — 3)2
x%— 16 (x+4)-(x—4)
x2+6x+9 (x + 3)2
x*—8x+16 (x —4)?
x?—25 (x—5)-(x+5)
4x? +12x +9 (2x + 3)2
9x2 —12x + 4 (3x — 2)?
4x% — 1 2x+1)-(2x—1)
9x% +12 +4 (3x +2)2
4x* —12x+9 (2x —3)2
9x2% — 16 Bx+4)-3x—4)
9x2 — 24x + 16 (3x —4)?
25x% 4+ 10x + 1 (5x + 1)2
4x% — 20x + 25 (2x — 5)2
x% — 36 (x+6) (x—-6)
x% — 14x + 49 (x—17)?

Material realizado por Brigytte Daza Vega - https://www.geogebra.org/m/ezcasvyz



https://www.geogebra.org/m/ezcasvyz

(x+6)-(x—6) (3x — 4)? (x +2)? x—2)-x+2) | ®*x=5 -(x+5) | BGx+4)-Bx—-4
@x+1-2x-1) | (x+4)-(x—4) (2x — 5)2 (x — 4)? (x+6) - (x—6) (x +3)2
(x +5)2 (x —2)2 (x —3)? (3x —4)? (x +2)? (3x —2)2
(x +2)? (x + 3)2 (x—=5)-(x+5) (x + 3)2 (Bx+4)-(Bx—4) (2x — 3)?
(3x + 2)? (2x + 3)? (2x — 3)? (x —7)% (2x+1)-(2x—1) (2x + 3)?
(x —2)? (x +5)2 (x —7)? (x—2)-(x+2) (5x + 1) (x+4)-(x—4)
(3x +2)2 (2x — 5)2 (x —7)? (x + 5)2 (x+6)-(x—6) (x +2)2
x+4)-(x—4) | Bx+4)-Bx—-4) (x —4)? (x — 3)? (Bx+4) - Bx—4) (3x + 2)?
(x +5)2 (2x — 3)2 (x —2)? (x —4)? (2x+1)-(2x—1) (x + 3)?
(3x — 2)? (x+4)-(x—4) | Bx+4)-Bx—4) (2x + 3)2 (x —7)? (2x — 5)
(5x + 1) (2x — 5)2 (x—5)-(x+5) (3x —2)? (2x+1)-(2x—1) (5x + 1)
(x — 4)2 (2x+1)-(2x—1) (x — 3)? (x + 3)2 (x=5) -(x+5) | ®x=2)-(x+2)
(3x —2)? (5x + 1) (2x — 3)? (x —2)2 (x —3)? (2x — 3)?
(x + 2)? (2x+1)-(2x—1) (x — 2)? (3x + 2)? (5x + 1)2 (x=5)-(x+5)
(x+6) (x—6) (3x + 2)? (2x + 3)? (2x — 5)? (2x + 3)? (3x — 4)?
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(5x + 1) (2x + 3)? (x — 4)? 2x+1)-2x-1) | (x+4)-x—4) | x+6)-(x—6)

(x +5)? Bx+4)-3x-4) | (x+6) (x—6) (3x — 4)? (2x + 3)? (2x — 5)2
(2x — 3)? (x—5)-(x+5) (3x +2)? x—=2)-x+2) | *x=5 -(x+5) | BGx+4)-Bx—-4

(x — 4)? (x + 3)2 (3x — 4)? (x — 4)? (x —3)? (2x+1)-2x—-1)

(x +2)? (3x +2)? (2x + 3)? (x+4)-(x—4) (3x + 2)? (x +2)?

x=5-(x+5) | x+4)-(x—4) | Bx+4)-Bx—4) (x —7)% Bx+4)-3x-4) (2x — 3)?
(2x — 3)? (x +5)2 (x—2)-(x+2) (x + 3)? (2x+1)-(2x—1) (x — 4)?
(2x+1)-2x-1) (x + 3)? (x —7)? (2x + 3)? (3x + 2)? (x—5)-(x+5)
(3x — 4)? (2x — 5)2 (3x + 2)? (x—2)-(x+2) (5x + 1) (3x —4)?

(x —2)? (3x — 4)? (3x + 2)? (x+6) - (x—6) (x —3)? (x—=2)-(x+2)
(2x + 3)? (x +5)2 (x—5)-(x+5) (3x — 2)? (x +2)? (5x + 1)
(2x — 5)? (x — 3)? (x +2)2 (2x + 3)2 (2x — 5)? (x+4)-(x—4)

(3x+4)-(3x—4) (3x +2)? (x — 4)? (5x + 1) (x +2)? (x +5)2
(3x — 4)? (x +5)2 (x+4)-(x—4) (x — 4)? (3x — 4)? (2x — 5)2
(x —2)? (2x — 3)? (x—=2)-(x+2) (3x + 2)? (2x + 3)? (x—2)-(x+2)
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(x—=2)-x+2) | (x=5)-(x+5) | Bx+4)-Bx—-4) (5x + 1)? (2x + 3)? (x —4)?

(x — 4)? (x+6)-(x—6) (x + 3)? (x +5)2 (Bx+4)-Bx-4) | (x+6) - (x—6)
(3x — 4)? (x +2)?2 (3x — 2)? (2x — 3)2 (x—5)-(x+5) (3x + 2)?

(x +2)? (x + 3)2 (x—=5)-(x+5) (x — 4)? (x —3)? (2x+1)-2x—-1)
(3x + 2)? (2x + 3)? (2x — 3)? (x+4)-(x—4) (3x + 2)? (x +2)?

(x —2)? (x +5)2 (x —7)? (x —7)% (Bx+4)-(3x—4) (2x — 3)?

(x +5)2 (x+6) (x—6) (x +2)? (2x — 3)2 (x +5)2 (x—2)-(x+2)

(x —3)2 (Bx+4)-(3x—4) (3x + 2)? (2x+1)-(2x—1) (x + 3)? (x —7)?

(x — 4)? (2x+1)-(2x—1) (x + 3)? (3x —4)? (2x — 5)2 (3x + 2)?
(3x —2)? (x+4) - (x—4) | Bx+4)-(3x-4) (x+6)-(x—6) (x —3)? (x—2)-(x+2)
(5x + 1) (2x — 5)2 (x—5)-(x+5) (3x — 2)? (x +2)? (5x + 1)

(x — 4)2 (2x+1)-(2x—1) (x — 3)? (2x + 3)? (2x — 5)2 (x+4) - (x—4)
(3x —2)? (5x + 1) (2x — 3)? (Bx+4)-(3x—4) (3x + 2)? (x — 4)?

(x +2)? (2x+1)-2x—-1) (x —2)? (3x —4)? (x +5)? (x+4)-(x—4)

(x+6) - (x—6) (3x + 2)? (2x + 3)? (x — 2)? (2x — 3)? (x—2)-(x+2)
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